
INSTALLATION INSTRUCTIONS

OVAL DROP STEP



                                                                                                                                OVAL DROP STEP

Page 1 of 2

No. Name Qty Remarks No. Name Qty Remarks
○1 Oval tube with step pad 1 ○7 Hex bolt 2 3/8＂-16-1＂
○2 Drop step  bracket left side 1 ○8 Flat washer 4 10mm
○3 Drop step  bracket right side 1 ○9 Spring washer 2 10mm
○4 Hex bolt 4 5/16＂-18-5/4＂ ○10 Hex nut 2 3/8＂-16
○5 Flat washer 8 8mm ○11 Hex bolt 4 5/16＂-18-1＂
○6 Spring washer 8

8mm 8

NOTE: Drilling required
Drill bit required is ¼＂

○4  ○5 ○6

○4  ○5 ○6

○1

○3

○2



                                                                                                                                OVAL DROP STEP

Page 2 of 2

INSTALLATION DIAGRAM FOR:
LATE MODEL DODGE
EARLY MODEL CHEVY

INSTALLATION DIAGRAM FOR:
LATE MODEL CHEVY AND FORD


